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Study of the Dynamic Characteristics of
a Hydraulic Power Supply

Lee, Seong-Bae
Department of Mechanical Engineering, Keonyang University

Dynamic characteristics of a hydraulic power
supply are studied theoretically and computationally.
The transfer function between the supply pressure and
the load flow is derived considering relief valve
dynamics, accumulator dynamics, and flow line dynamics.
Frequency responses and time responses are -obtaiped in
many conditions using the transfer fungtion and

vnonlinear nathematical model respectively.
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